KO—RBABTPRKRE.

AFI80E =

APFS 2,200M
or#zE 18 + 1,100

EY 42— [1,100M] XSERBNF IFEE

GWRARYIVARV P %5 —LA2I3ISEDHTR

EABFE-TEMLES 1]

S4& [IR¥1[E]4r0r2,200M *Jr1,650M]
KAPTZHRE 2 [E]4

Y% — [#81,100M]

TF

ZTIR

(2,860M]

IFE1E% +1,100” TH AJEE
Jr1,650MoriRE 1 [[4%

Ir—LXE/MET [2,200M]

IRE&1E4% + 1,100 TH AJEE

X80 EFRE DIHEIRE 1[4

EEITIHENITVET, QIR FRFEEBEE THP - 1 24 - FAJFIRRBI2HAHTIVET, ORENAHOBARIEENEZEEET, FHITEHEIEIL,

Y] [4,980M *44]
ESZ2—HZM0K) (B [BALBIEICL NILERTE : 6881,100M] XSEBN TSEER

1Y KP5=225—1b
D115 %
BFL7TZ  [2,860M]

wE1E% + 1,100 TH Al

4/29(t) 4/30(H) 5/1(B) | 5/2 (X) 5/3(K)
Ba—+ Ad—F Ba—+ Ad—F Ba—F | Ad—F | Ba—F | AO—F} Ba—F | Ad—F
9:30 | AFI80AEES | 9:30 9:40 9:40 .
FZRABDTTH R ) AR Sl L2
EE12% 2,200M
10:50 | oriFE1[E +1,100M |10:50 11:00 =3 alE 11:00 2,750H
11:00 — 11:10 S 11:10 Ly
SH/sm rZz£7n0z] |12:30 aiE 12:30 2,750M HEA&MET
12:40( *E8% 2,860
13:30 13:10 . 13:00 27
"7 ILR
14:00 9'7"‘7—)A
14:30 14:50 14:30 #* 14:20
14:40 "=
=71 =71 S = E64
15:50 16:00 SHUE
16:30| T HBREL & 16:00 *® =5 = H
ZV—+#HT&) 17:00 FLovy 17:00 FLovy
—REE 124 2,200 604 604>
18:00| or#REE1[E+1,100M4 18:00 =¥ 7 18:00 =5
18:30 18:20 18:30 EE8%
SIl - Sl 17:40
. 18:50 18:50 18:50
A—FIysR 12 19:00 or or or or
20:10 1=%7)) 51 1) [20:10 20:10 1=47))
£ - =M - A5 - 2
20:20 20:20 20:30 20:20
TFE164 2,860 |5 - BYHEY : 2—F iR #5& 452 #5 Hhr
21:30 MIRRICE Y BIRHERALWIEE DL H or or or or
VET, 21:40 =47)) Bt (21:40 E1) Tl 21:40 51
=2H - =H =H - =H =a2H - &% =6 - =H B bk =H - FE
215 - S afE - HE FE - 4H ol KRB OY H




